
1) Convert the following improper 
fraction 68/9 + 14/5 into a mixed 
number

Answer: ____________

2) Find area of triangle
h = 84 ft, a = 99 ft,
b = 100 ft, c = 100 ft

Answer: ____________

3) (-22) + 34

Answer: ____________

4) 6% of 43

Answer: ____________

5)
Find the next three numbers in 
the sequence
27,24,36,33,45,42,54__,__,__

Answer: ____________

6)
Find the next three numbers in 
the sequence
27,24,36,33,45,42,54__,__,__

Answer: ____________

7) 87.8 + 64.3

Answer: ____________

8) Find area of 
rectangle having 
sides a = 46 cm 
and b = 22 cm

Answer: ____________

9) (-76) - (-15)

Answer: ____________

10) 4   4/5 - 4   3/4

Answer: ____________

Total: ___ / 10
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Answers:

1) 831/45 2) 4200ft 3) 12 4) 2.58 5) 51,63,60, 6) 51,63,60, 7) 152.1

8) 1012cm 9) -61 10) 1/20
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